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General Instructions
1 udemeff Jyersdsta srga ol H & 3T T
Candidates are required to give their answers in their own words as far as practicable.
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Group —A Physics & Chemistry
YU—A (FHIH) vd IHIR)
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Select the correct option of questions following.

1 (1) YPHTer BT fol 19 d=edl 8— Light travels in 1
() et 33w A Straight line (&) H T[T H Zig-Zag Way
(@) =it oft fem & Inany direction (&) 3Iugerd At All of these
(i) fafq @ g&rer &1 =1 8l 8— (Speed of light in vaccum) 1
(P) 3x10°m/sec () 3x10°cm/sec
@0  3x10%km/sec (&) 3x10°mm/sec
(ili) T W DI GATH U (Near point of an object to see clearly is 1
(@) 25 HIcI/meter (F) 25 AHT/ecm
(@1 25 TA/inch (&) 100 JA&HI/cm
(iv) ©RT 91997 & IF DI H8d o— (Device use to measure current is) 1
(@) TVHIEST Ammeter RT) dicedAeT Voltameter
(3T) ATHIET thermometer (F) HSATHIET Monometer
® ; BT JATT HEATAT 2 |
The ratio is % known as- :
(@) ufcarer Resistance (&) =arethdr Conductance
@N) fTasa Potential (&) TIaia= Potential difference

1



2()  Fe,0, + 2Al — ALO,+ 2Fe & T 3ifafar fd R &1 & -

(ii)

(ii1)

@iv)

v)

Fe,O, + 2Al — ALO,+ 2Fe given chemical reaction is of which type

(@) JATorel sifdiceT &) TrieEr srifeT
Combination reaction Decomposition reaction

@1 TElkemuer arfarissar @) TeRermuer sifsrfsar
Double displacement reaction Displacement reaction

RR®T H B AT 3F URIT STl B

Which acid is found in vinegar

() Ve 31FaT Acetic Acid &) AAfees 31daT Lactic acid

@1 Tafees 31ear Citric acid (&) eief¥a 37daT Tartaric acid
NATEIRUT THd df A = (Formula of common Salt is)

(k) Nacl ) HB

(91  Hcl (&) NaoH

Bl fae9 T PH &1 9190 5 8, 98 9T BITT7

If PH of a solution is 5, then it is

(P) 3TFcT Acid (IT) &TTT Base

(@) TIgorT Salt (&) ohIs =T&l None of these
CaOcl,A1RT®H & yaferd A a1 87

CaOcl, 1s commonly known as ?

(@) fa3stas  got Bleaching powder (JT) el T ATST Washing soda
(@) dfdpar ATST Baking Powder (T) Teld A bIs =&l None of these

Zmeft Fermeit @t 378 — Fill in the blanks-
T 3fadel SUUT Pl gehdl AT R © Al IFd! B G f = ....... Sl

If the radius of curvature of a concave mirror is R then its focal distance will be f =

MY BT SI D ... 2 | The SI unit for chargeis ..............
Ueh BT AAT G ... ©— The General formula of Alkane s .............

T IR &R & I 3fAfehar By fafhar Fed o—

UhTY b URTIA & (198 bl foRg | Write laws of reflection.
JTad SUIT & sl & STANT fordd |

Write any two uses of concave mirror.
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9 TTas e IRRY 2Q,4Q T 6Q & & vfiA § SIS T 7 |
SAPBT TS YRR &1 8772

Three conductor of resistance 2Q,4Q and 6Q is connected in series. What will be
its equivalent resistance.

AfSTH o1 feIRE dat # gal s bl @1 A1 &7

Why is Sodium kept immersed in Kerosene oil ?
FrfeTRad FHIaRoT BT Aferd HITTT
Balance the following chemical equation.

a) N, + H, > NH,

b) Fe + H,0 — Fe,0, + H,

Td €T BT AT fqdT FHabd ford Sl &9 3 # Ry Sl 7 |

Write a name or symbol of a metal which exist in liquid state.
Teh VAT Q1T BT AW 1Al Hava ford S fagd @ garas gl 2 |

Write the name or symbol of a nonmetal which is good conductor of
electricity

e gfealy T 87 3Hd I BRYI 2 | SHHT [ fbd THR G49q 2 |

What is short sightedness? What are its reasons? How is its correction possible.

RIS & AT IT BN & MR IR IUAIT UG UTIT HI ARAT BV |
UAd o Ty Td IITE0T SIRTT |

Explain oxidation and reduction in terms of gain or loss of oxygen. Mention one
example of each.

FfeTRaT &1 e g3 ford
Write the chemical formula of following.
(A) ST Brsgiaarss Sodium hydroxide

(B) BfeTadH 3iTaATss Calcium Oxide
(C) arsgreier @eniziss Hydrogen Chloride

(D) @praT JAewme Copper Sulphate

U G g I BT GF o | By 4.0cm 1SSl &1 {49 fHAT 15.0em
B G @ 3add UV § 25cm @I g W @ AT ¢ | yfafda a1 Rerfa
Tepfl TAT AT S DI |

(Write down the lens formula and formula of magnification. An object 4cm in
length is placed at a distance of 25cm from a concave mirror of focal length 15cm.
Find the position of image, nature and size of image)

MY &1 g ford 3R 59T Ui I HIfu |

State ohm’s law and give its experimental verification.

31T/ OR
qTedshA Ao e ded g2 A 9ok R ,R, Ud R, UTdHA H |IIId

g qUIgy & S9aT F9ded UfoRiE
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(ii)

(ii1)

@iv)

11, .14,
R R R R

What is parallel combination? Three resistors of resistance R ,R, and R, are

connected in parallel. Show that their equivalent resistance is
1 1 1 1

R R R R

HTq 3R AT H PIg U IR ford |

Write any five differences between metals and nonmetals.
3adr/ OR

fr=ferRad ATt & =T g3 foRay |

Write the structural formula of following compounds

(A) ZeTes 31dct Ethanoic acid (B) f3HAe Methane
(C) uYer Propane (D) Useel Pentane
(E) Jesiler Benzene

Group — B (Biology)
qy— B (Shafasm=)
A9 H 996 [P a3 &I 9N © Sl Hafdd 2 |

In human kidney is a part of which organ system.

(€5) UIYoT Nutrition (F) 9aA Respiration
(3N 3IcASiel Excretion (&) uRase Circulation
ey qryor & IKECICEREY 2 element necessary for autotrophic nutrition.

(h) hIael SISITFRATSS daAT oIt (J) A=l Chlorophyll
Carbon dioxide and water

@ JIF BT uwsreT Sunlight @) IuRrad JAHT All of these
qrey H Siigeld STNERT ©

In plant xylem is responsible for

(@) GIeT bl da&el transport of water () #ffsiel 6T da&el transport of food
(3N 37T 37FA BT dgel (&) 3iTaRilSlel bl d&el

transport of amino acid transport of oxygen.
%1 # | DI AI&T S TF BT 9N T8 8?

Which of the following are not a part of temail reproductive system.

(B) 3ITsTer=T Ovary (JT) oT18Tter=T Uterus

(@) %_],Eb_CIT%_cH Vas deferens @) TEa arfagen fallopian tube
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I$gd [hd UBR &1 o 57
What type of flower is china rose?
(@) Tafciol Bisexual (B TP Toioft Unisexual

(3T) &Il Both () BAH A his oIt

None of these

STt FeImeT br He — Fill in the blanks-
.................. AR . ST ST B ISTENTT 2 |

.......... and .......... are examples of fossil fuels.
G & bl af B ford |

Write any two functions of blood.

&1 U Sigell &1 M faRay [ argg Fuee 8iar B |

Name two such animals where external fertilization takes place.

HHUE R & oY BB R® 7, D7

How is smoking injurious to health ?

SifTeh ST & Py &I o ford?

Write any two advantages of sexual reproduction?

TS JT favau) qiyer ¥ &g AR 7N o |

Write any for differences between autotrophic and heterobophic nutrition?
fau U = 9 (1] 3R [2] BT AHIGT B AT [2] D DIS &I BRI ol |

Label [1] and [2] in the given figure and write any two function of [2].

\" .
['57)

AT IS a3 &1 AHifhd = 9918Y |

Draw a labeled diagram of human excretory system.
3erdr/ OR

ITARID! BT A B0 | RIT Hee 2 |

What is the relation of Genetics with human welfare.




